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13. (@) ~ # ~ —467

The number of visitors to the park is decreasing

at an average rate of 467 people per month from
September to December.

(b) Answers will vary. Sample answer: [4. 1 l]

Both the instantaneous rate of change at = 8and
the average rate of change on [4_ 1 1] are about zero.

14. (a) The average rate of change is the greatest over [5, 6].
(b) Answers will vary. Sample answer: [2, 5]

Both the instantaneous rate of change at f = 4 and
the average rate of change on [2. 5] is about zero.
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